Efficiency vs dr

efficiency vs AR

Ratio

1.2

0.6

0.4

=
LI L

0.8f

oz—*

OLT, [TIT]
_ttbarPU_mkFit_5iter

—— DQM_ttbarPU_mkFit_5iter_updatedPR111

—e— DQM_ttbarPU_mkFit_5iter_updatedPR111_t

0

[ Efficiency vs dr (track,jet) |

efficiency vs AR(TP, jet

Ratio

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

Vs

[y

107 1072

1
AR(TP, jét)

Efficiency vs pu

efficiency vs PU

Ratio

0.8

0.7

0.6

0.5

0.4

0.3

0.2

0.1

....................

iy

E 1|1|u:uuull|l'l||||
T ——

0.95
2

0 40 60 80 100 120 140
Pileup

1
TP min AR

-1

update
update_fixPropagation




	Contents
	Page 1


